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1. f83 32 939 &9 DE 11 BC F, ECT'HYB U3T a4 ( In given fig. DE Il BC, Find EC.)

(2)

2. Y15 B8 f33= ABC AHgGU 33 DEF I i3 feast € 939e® gHed 64 cm” 3 121cm’ I | AT

EF =15.4cm J2@ 31 BC U3 |

Let triangle ABC similar to triangle DEF and their areas be, respectievely 64 cm® and 121cm? . If EF =

15.4 cm, find BC. ()
3. ABC g magrt faga d fimer = c Avae 9 | fifgad fa AB® = 2AC* T |

ABC is an isosceles triangle right angled at C. prove that AB” = 2AC”. (2)
4. 10m B¢t fix 4t ffa da &5 Barge 3 i o8 8m &t Goreht '3 wfys i fuzdlt Saudedt d da @

g 3 4t 2@ I3 g S gt uzraad |

A ladder 10m long reaches a window 8 meter above the ground . Find the distance of the foot of the

ladder from base of the wall . (4)

5. ABCD ¥ ms8a 93337 J fam f€a AB Il DC & | 133 3Aet AD M3 BC €3 saHeg fig e 3 F fom

ya'g A3 35 fa EF 37T AB @ AM3T I, fedm8 fa AE/ED = BF/ FC 31



In trapezium ABCD, AB | | DC. E and F are points on non-parallel sides AD and BC respectively such

that EF | | AB. Show that AE/BF = ED/FC. (4)

6. Ada fan fggn &g ffa 37 e ega1, gadin @ garet @ €gar & i3 © 99ga Je 37 ufadt gar @ Aran
TH IS AHAS g d |
In a triangle , if square of one side is equal to the sum of the square of other two sides ,then the

angle opposite the first side is a right angle . (6)



